
SAMPLE QUESTIONS         KINDERGARTEN幼稚園 ( CATEGORY 1) （組別 1） 

 

 

MATH QUESTIONS 數學題 

Multiple Choice多項選擇題 

 

1) Find 36 – 27 + 16 =? 

找出 36 – 27 + 16 =? 

 

A) 29   B) 23  

C) 21   D) 25 

 

2) How many bananas? 有多少香蕉？ 

 

 
 

A) 9   B) 13  

C) 7   D) 14 

 

3) Find next number. 找到下一個號碼。 

 

 
 

A) 29   B) 23  

C) 21   D) 24 

 

4) Find missing number. 查找丟失的號碼

。 

 
 

A) 2   B) 3  

C) 1   D) 4 

5) Write missing number.  
寫下缺失的號碼。 

 
A) F   B) B  

C) C   D) O 

 

6) How many angles are there in the 

polygon below? 
下面的多邊形有多少個角？ 
 
 
 
 
 
 
 
 
 

 

A) 9   B) 10  

C) 11   D) 14 

 

7) Find 找 29 + 57 = ? 

 

A) 89   B) 12  

C) 86   D) 84 

 

8) Solve 解 66 – 45 = ? 

 

A) 19   B) 23  

C) 21   D) 24 

 

9) Find next pattern.  
找下一個圖案。 

 

A)    B)  

C)    D)  



SAMPLE QUESTIONS         KINDERGARTEN幼稚園 ( CATEGORY 1) （組別 1） 

 

 

MATH QUESTIONS 數學題 

10) How many people are there? 有多少

人? 

 

 
A) 20   B) 23  

C) 21   D) 24 

 

11) 20 + 23 – 17 = ? 

 

A) 29   B) 23  

C) 26   D) 24 

 

12) Find next pattern.  
 找下一個圖案。 

 
 

A)    B)   

C)    D)  

 

13) Solve. 解:  

 
 

A)    B)   

C)     D) none of them.  

 

14) Solve解 44 – 25 = ? 

 

A) 19   B) 23  

C) 21   D) 24 

 

15) Solve 解 67 + 32 = ? 

 

A) 100   B) 89  

C) 95   D) 99 

 

16) Find找 B.   5 × B = 25 

 

A) 2   B) 11  

C) 5   D) 20 

 

7) How many patterns?  
有多少種圖案？ 

 
 

A) 4   B) 12  

C) 20   D) 16 

 

18) Find. 找: 

 

 
 

A) 9   B) 13  

C) 11   D) 10 
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19) How many triangles are there? 
 有多少個三角形？ 

 
 

 

A) 9   B) 8  

C) 11   D) 4 

 

20) 6 + 6 – 6 + 6 – 6 + 6 =? 

 

A) 12   B) 14  

C) 6   D) 24 

 

21) Find the sum of even numbers.   
求偶數之和。 

 

 
 

Answer回答: ________ 

 

 

22) Find sum of missing numbers.  
查找缺失數字的總和。 

 
 

Answer回答: ________ 

 

23) Solve. 解: 

 

20 + 23 – 20 – 24 + 20 + 25 =?  

 

Answer回答: ________ 

 

 

24) Find. 找: 

 
 

Answer回答: ________ 

 

 

25) Solve解: 7 + 8 – 5 + 6 – 5 + 3 – 5 = ? 

 

Answer回答: ________ 

 


